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Jan 11 17:19:00.767: htsp_dsp_message: SEND/RESP_SIG_STATUS: state=0xC timestamp

=44262 systime=31305235

Jan 11 17:19:00.767: htsp_process_event:

[4/1:1(10), EM_ONHOOK, E_DSP_SIG_1100]em_onhook_offhook htsp_setup_ind

!-—-- Offhook signal is received from the switch. Jan 11 17:19:00.767: [4/1:1(10)]

get _local _station_id calling nunm= calling name= calling time=01/11 17:19 Jan 11 17:19:00. 767
vtsp_tsp_call _setup_ind (sdb=0x62BB7B14, tdm i nfo=0x0, tsp_ info=0x62BB4050, calling_nunber=
calling_oct3 = 0x0, called_nunber= called_oct3 = 0x81, oct3a=0x0): peer_tag=0 Jan 11
17:19:00.767: : ev.clg.clir is O ev.clg.clid_transparent is O ev.clg.null _orig_clgis 1
ev.clg.calling translated is false Jan 11 17:19:00.767: htsp_tiner - 3000 nsec Jan 11
17:19: 00. 767: vtsp_do_call _setup_ind Jan 11 17:19:00.767: vtsp_all ocate_cdb, cdb 0x62DCEA70 Jan
11 17:19:00.767: vtsp_do_call _setup_ind: Call I1D=112722, gui d=62DC4230 Jan 11 17:19:00. 767:
vtsp_do_cal | _setup_ind: type=0, under_spec=1640890368, nane=, id0=10, idl=1, id2=25038

cal ling=, called= subscriber=Regul arLine Jan 11 17:19:00.767: vtsp_do_nornmal _call _setup_ind Jan
11 17:19:00.771: cc_api _call _setup_ind (vdbPtr=0x62BB7FA0, calllnfo={called=

,cal |l ed_oct 3=0x81, cal | i ng=, cal | i ng_oct 3=0x0, cal | i ng_oct 3a=0x0, cal | i ng_xI at ed=f a

se, subscri ber _type_str=Regul arLi ne, f dest =0, peer _t ag=0, prog_i nd=3}, cal | | D=0x62DC 40DC) Jan 11
17:19: 00. 771: cc_api_call _setup_ind type 1 , prot 0 Jan 11 17:19:00.771: vtsp_insert_cdb, cdb
Ox62DCEA70 Jan 11 17:19:00.771: vtsp_open_voice_and_set_paranms Jan 11 17:19:00. 771:

dsp_cl ose_voi ce_channel : [4/1:1:32995] packet_| en=8 channel _id=3 packet _id=75 Jan 11
17:19: 00. 771: dsp_open_voi ce_channel _20: [4/1:1:32995] packet_| en=16 channel _i d=3 packet _i d=74
al aw_ul aw_sel ect =0 associ at ed_si gnal i ng_channel =130 tinme_slot=2 serial _port=0 Jan 11
17:19: 00. 771: vtsp_nodem proto_from cdb: cap_nodem proto 1073741824 Jan 11 17:19:00.771:

vt sp_nmodem proto_from cdb: cap_nodem proto 1073741824 Jan 11 17:19:00.771: dsp_encap_config:
[4/1:1:32995] packet_| en=30 channel _i d=3 packet _i d=92 TransportProtocol 2 t_ssrc=0x0 r_ssrc=0x0
t _vpxcc=0x0 r_vpxcc=0x0 sid_support=1, tse_payl oad=65535, seq_num=0x0, redundancy=0 Jan 11
17:19: 00. 771: dsp_set_playout _delay Jan 11 17:19:00.771: dsp_set_playout: [4/1:1:32995]
packet _| en=18 channel _i d=3 p acket_i d=76 node=1 initial =60 m n=40 max=200 fax_nom=300

dsp_set _playout _delay_config Jan 11 17:19:00.771: dsp_set_playout_config Jan 11 17:19:00. 771:
node O, init 60, mn 40, nmax 200 pl ayout default Jan 11 17:19:00.771:

dsp_set _playout_config:node 0, init 60, nmin 40, max 200 Jan 11 17:19:00.771:

dsp_set _playout _config: [4/1:1:32995] packet_| en=18 channel _id=3 packet _id=76 node=1 initial =60
m n=40 max=200 fax_nom=300 Jan 11 17:19:00.771: dsp_echo_cancel er_control: echo_cancel: 1 Jan 11
17:19: 00. 771: dsp_echo_cancel er_control : [4/1:1:32995] echo_cancel 1, disable_hpf 0, flags=0x0,
t hreshol d=-21 Jan 11 17:19:00.771: dsp_echo_cancel er_control: [4/1:1:32995] packet | en=12
channel _i d=3 packet _i d=66 fl ags=0x0, threshol d=-21 Jan 11 17:19:00.771: set_gains: FXx/E&M nsg-
>message. set _codec_gai ns. out _gai n=0 Jan 11 17:19:00.771: dsp_set_gains: [4/1:1:32995]
packet _| en=12 channel _i d=3 packet _i d=91 i n_gai n=0 out _gain=0 Jan 11 17:19: 00. 771:
dsp_vad_enabl e: [4/1:1:32995] enabl e: packet_| en=12 channel _id=3 packet _id=78 thresh=-38 Jan 11
17:19: 00. 771: cc_process_cal |l _setup_ind (event=0x62E63ACC) Jan 11 17:19:00.771: >>>>CCAPI handed
cid 32995 with tag 0 to app "DEFAULT" Jan 11 17:19:00.771: sess_appl:


//www.cisco.com/en/US/docs/routers/access/1700/1750/software/configuration/guide/debug.html#wp1029863
//www.cisco.com/en/US/docs/routers/access/1700/1750/software/configuration/guide/debug.html#wp1029863
//www.cisco.com/en/US/docs/routers/access/1700/1750/software/configuration/guide/debug.html#wp1030044
//www.cisco.com/en/US/tech/tk652/tk653/technologies_tech_note09186a00800e66b1.shtml

ev(24=CC_EV_CALL_SETUP_I ND), cid(32995), disp(0) Jan 11 17:19:00.771: sess_appl:

ev(SSA EV_CALL_SETUP_IND), cid(32995), disp(0) Jan 11 17:19:00.771: ssaCall Setuplnd Jan 11
17:19: 00. 771: ccCal |l Set Context (calllD=0x80E3, context=0x62DFBCF0) Jan 11 17:19:00. 771:

ssaCal | Setupl nd ci d(32995), st(SSA _CS_MAPPING), ol dst(0), ev (24)ev-

>e. evCal | Setuplnd.nCal |l Info.final DestFlag = 0 Jan 11 17:19: 00. 771: ccCal | Set upAck

(cal | | D=0x80E3) Jan 11 17:19:00.771: ccGenerateTone (calllD=0x80E3 tone=8) Jan 11 17:19:00.771:
ccCal | ReportDigits (calllD=0x80E3, enabl e=0x1) Jan 11 17:19:00.771: vtsp_report_digit_control:
enabl e=1: digit reporting enabled Jan 11 17:19:00.771: cc_api_call_report_digits_done

(vdbPt r =0x62BB7FAQ, cal | | D=0x80E3, disp=0) Jan 11 17:19:00.771: : vtsp_get_digit_timeouts Jan 11
17:19: 00. 771: sess_appl: ev(52=CC_EV_CALL_REPCORT DI G TS DONE), cid(32995), disp(0) Jan 11
17:19: 00. 771: ci d(32995) st (SSA CS _MAPPI NG ev (SSA EV_CALL_REPORT_DI G TS_DONE)

ol dst (SSA_CS_MAPPI NG cfid(-1)csize(0)in(1)fDest(0) Jan 11 17:19:00.771: ssaReportDi gitsDone

ci d(32995) peer list: (enpty) Jan 11 17:19:00.771: ssaReportDi gitsDone calli d=32995 Enabl e
succeeded Jan 11 17:19:00.771: ccCenerateTone (calllD=0x80E3 tone=8) Jan 11 17:19:00.771:

vtsp: [4/1:1:32995, S SETUP_I NDI CATED, E_CC SETUP_ACK] Jan 11 17:19:00.775: act_setup_ind_ack Jan
11 17:19:00.775: vtsp_nmodem proto_from cdb: cap_nodemproto O Jan 11 17:19: 00. 775:

vt sp_nmodem proto_from cdb: cap_nodemproto O Jan 11 17:19:00.775: dsp_encap_confi g:
[4/1:1:32995] packet_| en=30 channel _i d=3 packet _i d=92 TransportProtocol 2 t_ssrc=0x0 r_ssrc=0x0
t _vpxcc=0x0 r_vpxcc=0x0 sid_support=1, tse_payl oad=65535, seq_num=0x0, redundancy=0 Jan 11
17:19: 00. 775: dsp_voi ce_node: [4/1:1:32995] cdb 62DCEA70, cdb->codec_parans. nodem 2,

i nband_detect flags O0x21 Jan 11 17:19:00.775: map_dtnf_relay_type--digit relay node: 2 Jan 11
17:19: 00. 775: dsp_voi ce_node: [4/1:1:32995] packet_| en=24 channel _i d=3 packet _i d=73

codi ng_type=1 voice_field_size=160 VAD flag=0 echo_| engt h=256 confort _noi se=1 i nband_det ect =33
digit_relay_node=2 AGC fl ag=0act_setup_i nd_ack: nodem node = 0, fax_relay_on = 1 Jan 11

17:19: 00. 775: act_setup_ind_ack(): dsp_dtnf_node() dsp_dtnf_node(VISP_TONE_DTMF_MODE) Jan 11
17:19: 00. 775: dsp_dtnf _node: [4/1:1:32995] packet_I| en=10 channel _i d=3 packet _i d=65 dtnf_or_nf=0
Jan 11 17:19:00.775: vtsp_timer: 31305236 Jan 11 17:19:00.775: vtsp:[4/1:1: 32995,

S DIGA T_COLLECT, E _CC GEN TONE] Jan 11 17:19:00.775: act_gen_tone Jan 11 17:19:00. 775:
dsp_cp_tone_of f: [4/1:1:32995] packet_| en=8 channel _i d=3 packet _i d=71 Jan 11 17:19:00. 775:
dsp_cp_tone_on: [4/1:1:32995] packet | en=38 channel _i d=3 packet _i d=72 tone_i d=4 n_freq=2
freq_of _first=350 freq_of _second=440 anp_of _first=5514 anp_of _second=5514 direction=1
on_time_first=65535 off_time_first=0 on_tine_second=0 off_tine_second=0 Jan 11 17:19: 00. 775:
vtsp:[4/1:1:32995, S DIG T_COLLECT, E_CC GEN _TONE] Jan 11 17:19:00.775: act_gen_tone Jan 11
17:19: 00. 775: dsp_cp_tone_off: [4/1:1:32995] packet | en=8 channel _i d=3 packet _i d=71 Jan 11
17:19: 00. 775: dsp_cp_tone_on: [4/1:1:32995] packet_| en=38 channel _i d=3 packet _i d=72 tone_i d=4
n_freq=2 freqg_of _first=350 freq_of_second=440 anp_of _first= 5514 anp_of _second=5514 direction=1
on_time_first=65535 off_time_first=0 on_tine4_second=0 of f_time_second=0 Jan 11 17:19:00. 775:
ht sp_process_event: [4/1:1(10), EM WAl T_SETUP_ACK, E _HTSP_SETUP_ACK] em wai t _setup_ack_get _ack
Jan 11 17:19:00.775: htsp_tinmer_stop Jan 11 17:19:00.775: htsp_tiner2 - 172 nsec Jan 11

17:19: 00.947: htsp_process_event: [4/1:1(10), EM WAI T_SETUP_ACK,

E_HTSP_EVENT_TI MER2] em wai t _prewi nk_tinmer Jan 11 17:19:00.947: em offhook (0) [recEive and
transMit4/1:1(10)] set signal st

ate = 0x8em_onhook (200) [recEive and transMit4/1:1(10)] set signal state = 0x0

!--- A wink of duration 200 msec is sent out to the switch. Jan 11 17:19:01.471:

vt sp_process_dsp_message: MSG TX DTMF DIG T_BEA N digit=9, rtp_tinmestanp=0xED31C493 Jan 11
17:19: 01.471: vtsp:[4/1:1:32995, S DIG T_COLLECT, E_DSP_DTMF_DIG T_BEG N Jan 11 17:19:01.471:
act _report_digit_begin Jan 11 17:19:01.471: cc_api _call _digit_begin (dstVdbPtr=0xO0,

dst Cal | | d=OxFFFFFFF F, srcCallld=0x80E3, digit=9, digit_begin_flags=0x1,
rtp_tinmestanp=0xED31C493 rtp_expirati on=0x0, dest_mask=0x1) Jan 11 17:19:01.471: sess_appl:
ev(10=CC EV_CALL_DIA T_BEA N), cid(32995), disp(0) Jan 11 17:19:01.471:

ci d(32995) st (SSA_CS_MAPPI NG ev(SSA_EV_DI G T_BEG N) ol dst (SSA_CS_MAPPI NG) cfi d( -
1)csize(0)in(1)fDest(0) Jan 11 17:19:01.471: ssalgnore cid(32995), st(SSA CS MAPPING, ol dst(0),
ev(10) Jan 11 17:19:01.503: vtsp_process_dsp_nessage: MSG TX DTM- DI G T_OFF: digit=9,
duration=65 Jan 11 17:19:01.503: vtsp:[4/1:1:32995, S DIG@ T_COLLECT, E_ DSP_DTM- DIA T] Jan 11
17:19: 01.503: act_report_digit_end Jan 11 17:19:01.503: vtsp_timer_stop: 31305308 Jan 11

17:19: 01.503: dsp_cp_tone_off: [4/1:1:32995] packet | en=8 channel _i d=3 pa cket_id=71 Jan 11
17:19: 01.503: cc_api_call _digit_end (dstVdbPtr=0x0, dstCallld=0xFFFFFFFF, srcCallld=0x80E3,

di gi t =9, dur ati on=65, xrul eCal | i ngTag=0, xr ul eCal | edTag=0, dest_mask=0x1), digi t_tone_node=0 Jan
11 17:19:01.503: htsp_digit_ready: digit = 39 Jan 11 17:19:01.503: vtsp_timer: 31305308 Jan 11
17:19: 01.503: htsp_process_event: [4/1:1(10), EM OFFHOOK, E VTSP_DI d T] em of f hook_di git_col |l ect
Jan 11 17:19:01.503: sess_appl: ev(9=CC EV_CALL_D A T_END), cid(32995), disp(0) Jan 11

17:19: 01.503: ci d(32995) st (SSA CS_MAPPI NG) ev(SSA EV_CALL_DI G T) ol dst(SSA_CS_MAPPI NG cfi d( -
1)csize(0)in(1)fDest(0) Jan 11 17:19:01.503: ssabigit Jan 11 17:19:01.503: ssabigit, 0. sct-
>digit , sct->digit len O, usrDigit 9, digit_tone_node=0 Jan 11 17:19:01.503: ssaDigit, 1.



callinfo.called , digit 9, callinfo.calling , x rulecallingtag 0, xrulecalledtag 0 Jan 11
17:19: 01.503: ssabDigit, 7. callinfo.calling , sct->digit 9, result 1 Jan 11 17:19:01. 603:

vt sp_process_dsp_message: MSG TX DTMF DIG T_BEA N digit=1, rtp_tinmestanp=0xED31C493 Jan 11
17:19: 01.603: vtsp:[4/1:1:32995, S DIG T_COLLECT, E_DSP_DTMF_DIG T_BEG N Jan 11 17:19:01.603:
act _report_digit_begin Jan 11 17:19:01.603: cc_api_call_digit_begin (dstVdbPtr=0xO0,

dst Cal | | d=OxFFFFFFF F, srcCallld=0x80E3, digit=1, digit_begin_flags=0x1,
rtp_tinestanp=0xED31C493 rtp_expirati on=0x0, dest_mask=0x1) Jan 11 17:19:01. 603: sess_appl:
ev(10=CC EV_CALL_DIA T_BEA N), cid(32995), disp(0) Jan 11 17:19:01.603:

ci d(32995) st (SSA_CS_MAPPI NG ev(SSA_EV_DI G T_BEG N) ol dst (SSA_CS_MAPPI NG) cfi d( -
1)csize(0)in(1)fDest(0) Jan 11 17:19:01.603: ssalgnore cid(32995), st(SSA CS MAPPING, ol dst(0),
ev(10) Jan 11 17:19:01. 643: vtsp_process_dsp_nessage: MSG TX DTMF DG T_OFF: digit=1,
duration=75 Jan 11 17:19:01.643: vtsp:[4/1:1:32995, S DIG@ T_COLLECT, E DSP_DTM- DIA T] Jan 11
17:19: 01. 643: act_report_digit_end Jan 11 17:19:01.643: vtsp_timer_stop: 31305322 Jan 11
17:19: 01. 643: cc_api_call _digit_end (dstVdbPtr=0x0, dstCallld=0xFFFFFFFF, srcCallld=0x80E3,

di gi t =1, durati on=75, xrul eCal | i ngTag=0, xr ul eCal | edTag=0, dest_mask=0x1), digit_tone_node=0 Jan 11
17:19:01.643: htsp_digit_ready: digit = 31 Jan 11 17:19:01.643: vtsp_tiner: 31305322 Jan 11
17:19: 01. 643: htsp_process_event: [4/1:1(10), EM OFFHOOK, E VTSP_DI d T] em of f hook_di git_col |l ect
Jan 11 17:19:01.643: sess_appl: ev(9=CC EV_CALL_D A T_END), cid(32995), disp(0) Jan 11

17:19: 01. 643: ci d(32995) st (SSA CS _MAPPI NG ev(SSA EV_CALL_DI G T) ol dst(SSA_CS_MAPPI NG cfi d( -
1)csize(0)in(1)fDest(0) Jan 11 17:19:01.643: ssabigit Jan 11 17:19:01.643: ssabDigit, 0. sct-
>digit 9, sct->digit len 1, usrDigit 1, digit_tone_node=0 Jan 11 17:19:01.643: ssabigit, 1.
callinfo.called , digit 91, callinfo.calling , xrulecallingtag 0, xrulecalledtag 0 Jan 11
17:19: 01.643: ssabDigit, 7. callinfo.calling , sct->digit 91, result 1 Jan 11 17:19:01.743:

vt sp_process_dsp_message: MSG TX DTMF_ DIG T_BEGA N digit=8, rtp_tinmestanp=0xED31C493 Jan 11
17:19: 01. 743: vtsp:[4/1:1:32995, S DIG T_COLLECT, E_DSP_DTMF_DIG T_BEG N Jan 11 17:19:01. 743:
act _report_digit_begin Jan 11 17:19:01.743: cc_api _call _digit_begin (dstVdbPtr=0x0,

dst Cal | | d=OxFFFFFFF F, srcCallld=0x80E3, digit=8, digit_begin_flags=0x1,
rtp_tinestanp=0xED31C493 rtp_expirati on=0x0, dest_mask=0x1) Jan 11 17:19:01. 743: sess_appl:
ev(10=CC EV_CALL_DIA T_BEGA N), cid(32995), disp(0) Jan 11 17:19:01.743:

ci d(32995) st (SSA_CS_MAPPI NG ev(SSA_EV_DI G T_BEG N) ol dst (SSA_CS_MAPPI NG) cfi d( -
1)csize(0)in(1)fDest(0) Jan 11 17:19:01.743: ssalgnore cid(32995), st(SSA CS MAPPING, ol dst(0),
ev(10) radius_decrypt: null length Jan 11 17:19:01.843: vtsp_process_dsp_nessage:

MSG TX DTMF_DIG T_OFF: digit=8, duration=75 Jan 11 17:19:01.843: vtsp:[4/1:1:32995,

S DIGA T_COLLECT, E DSP_DTM-_DIA T] Jan 11 17:19:01.843: act_report_digit_end Jan 11

17:19: 01.843: vtsp_tiner_stop: 31305342 Jan 11 17:19:01.843: cc_api_call _digit_end

(dst VdbPt r =0x0, dst Cal | | d=OxFFFFFFFF, srcCal || d=0x80ES3,

di gi t =8, dur ati on=75, xrul eCal | i ngTag=0, xr ul eCal | edTag=0, dest_mask=0x1), digi t_tone_node=0 Jan
11 17:19:01.843: htsp_digit_ready: digit = 38 Jan 11 17:19:01.843: vtsp_timer: 31305342 Jan 11
17:19: 01. 843: htsp_process_event: [4/1:1(10), EM OFFHOOK, E VTSP_DI d T] em of f hook_di git_col | ect
Jan 11 17:19:01.843: sess_appl: ev(9=CC EV_CALL_D A T_END), cid(32995), disp(0) Jan 11

17:19: 01. 843: ci d(32995) st (SSA CS _MAPPI NG) ev(SSA EV_CALL_DI G T) ol dst(SSA_CS_MAPPI NG cfi d( -
1)csize(0)in(1)fDest(0) Jan 11 17:19:01.843: ssabigit Jan 11 17:19:01.843: ssabigit, 0. sct-
>digit 91, sct->digit len 2, usrDigit 8 d igit_tone_npde=0 Jan 11 17:19:01.843: ssabigit, 1.
callinfo.called , digit 918, callinfo.calling , xrulecallingtag 0, xrulecalledtag 0 Jan 11
17:19: 01.843: ssabDigit, 7. callinfo.calling , sct->digit 918, result -1 Jan 11 17:19:01. 843:
ccCal | Di sconnect (calllD=0x80E3, cause=0x1C tag=0x0) Jan 11 17:19:01.843: vtsp:[4/1:1:32995,

S DIGA T_COLLECT, E_CC DI SCONNECT] Jan 11 17:19:01.843: act_pre_con_di sconnect Jan 11

17:19: 01.843: vtsp_ring_noan_timer_stop: 31305342 Jan 11 17:19:01.843: dsp_cp_tone_off:
[4/1:1:32995] packet_| en=8 channel _i d=3 pa cket _id=71 Jan 11 17:19: 01. 843: dsp_voi ce_node:
[4/1:1:32995] cdb 62DCEA70, cdb->codec_para ns. nodem 2, inband_detect flags 0x21 Jan 11
17:19:01.843: map_dtnf _relay_type--digit relay node: 2 Jan 11 17:19: 01. 843: dsp_voi ce_node:
[4/1:1:32995] packet _| en=24 channel _i d=3 pa cket _i d=73 codi ng_type=1 voice_field_size=160
VAD_ fl ag=0 echo_l engt h=256 confort _noi se=1 i nband_detect=33 digit_relay_mode=2 AGC fl ag=0 Jan
11 17:19:01. 843: dsp_cp_tone_on: [4/1:1:32995] packet_len=38 channel_id=3 pa

cket_id=72 tone_id=3 n_freq=2 freq of_ first=480 freq of_ second=620amp_of first=

5206 amp_of_second=2928 direction=1 on_time_ first=250 off_ time first=250

on_time_second=0 off time_ second=0

Jan 11 17:19:01. 843: vtsp_timer: 31305342

Jan 11 17:19:01.843: htsp_pre_connect_disconnect, cdb = 62DCEA70 cause = 1C

!--- Since the call is disconnected because the number received 1s "unassigned" !--- or
"invalid" the router starts to play the reorder !--- tone and a timer, which is the wait-release
!l --- timeout timer, starts with default 30 seconds. !--- This call is disconnected !--- prior to

the connect state. Jan 11 17:19:01.843: htsp_process_event: [4/1:1(10), EM OFFHOCK,
E_HTSP_PRE_CONN_DI SC] Jan 11 17:19:31.844: vtsp_main: timer: 31308342



!--- The wait-release timer expires after 30 seconds. Jan 11 17:19:31.844: vtsp:[4/1:1:32995,
S_WAIT RELEASE_NC, E_TIMER]

!-—- The VTSP module is in a wait release state for that call. It also receives !--- event
timer, which means that the timer expires so that it !--- goes into another state. Jan 11

17:19: 31.844: act_pre_con_disc_rel htsp_rel ease_req: cause 28, no_onhook O Jan 11 17:19:31.844:
htsp_process_event: [4/1:1(10), EM OFFHOOK,

E_HTSP_RELEASE_REQ]em offhook_release

Jan 11 17:19:31.844: htsp_timer_stop2 em onhook (0) [recEive and transMit4/1:1(10

)] set signal state = 0x0

Jan 11 17:19:31.844: htsp_timer_stop

Jan 11 17:19:31.844: em_start_timer: 400 ms

Jan 11 17:19:31.844: htsp_timer - 400 msec

!-—-- HTSP receives an event that requests the release of !--- the time slot and it goes into EM
wait !--- onhook state. But, it cannot do anything since it says I am onhook already. !--- Also,
the router starts a timer of 400 msec. Jan 11 17:19:32.296: htsp_ process_event: [4/1:1(10),
EM_WAIT_ ONHOOK,

E_HTSP_EVENT TIMER]em wait_timeout

Jan 11 17:19:32.296: em_stop_timers

Jan 11 17:19:32.296: htsp_timer_stop

Jan 11 17:19:32.296: em_start_timer: 400 ms

Jan 11 17:19:32.296: htsp_timer - 400 msec

!-—- When the 400 msec timer expires, HTSP gets into EM clear pending state. !--- It also starts
another timer of 400 msec. Jan 11 17:19:32.696: htsp_process_event: [4/1:1(10), EM CLR PENDI NG,
E HTSP_EVENT _TIMERlemclr_tineout Jan 11 17:19:32.696: emstop_tinmers Jan 11 17:19: 32. 696:
htsp_tiner_stop Jan 11 17:19:32.696: emstart_tinmer: 10000 nms Jan 11 17:19: 32.696: htsp_tiner -
10000 msec Jan 11 17:19:32.700: htsp_dsp_nessage: SEND/ RESP_SI G STATUS: state=0xC ti nmestanp=1533
systi ne=31308428 Jan 11 17:19:32.700: htsp_process_event: [4/1:1(10), EM PARK

E DSP_SI G 1100] em park_of fhook !--- When the 400 msec timer expires, the router puts the time
slot into !--- the EM _PARK state, and it starts another timer of 10 seconds. !--- The router
still sees the ABCD=1100 from the switch. Jan 11 17:19:42.760: htsp process_event: [4/1:1(10),
EM_PARK, E_HTSP_ EVENT TIMER]em park_timerhtsp_ report_onhook_sig

Jan 11 17:19:42.760: em offhook (0) [recEive and transMit4/1:1(10)] set signal st

ate = 0x8em_onhook (1000) [recEive and transMit4/1:1(10)] set signal state = 0x0

Jan 11 17:19:42.760: htsp_timer2 - 300000 msec

Jan 11 17:19:42.760: htsp_process_event: [4/1:1(10),

EM_PARK, E_HTSP_ EVENT TIMER]em park_timerhtsp_ report_onhook_sig

Jan 11 17:19:42.760: em_offhook (0) [recEive and transMit4/1:1(10)]

set signal state = 0x8em onhook (1000) [recEive and

transMit4/1:1(10)] set signal state = 0x0

Jan 11 17:19:42.760: htsp_timer2 - 300000 msec

!--- As seen from the timestamps, when the timer expires 1in ten seconds, !--- the router goes
offhook for one second (1000 msec) and then onhook. !--- It also starts another timer of 300000

msec (5 minutes).
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